Homework assignments on Applications 1+2
Lecture ae4-e01, course 2006-2007

Question 1

GPS: When we compute the L3 ionospheric free range r3 you will find a relation like r3=q1*r1 + q2*r2 where r1 is the observed range at L1 and r2 at L2. Compute the factors q1 and q2 and show that the random noise on r3 is several times greater than that at L1 and L2. 
Question 2
SLR: Lageos orbits the Earth at about 6000 km. If you want to see this satellite with a laser tracking station then it must be above the horizon. Furthermore you want to see it sufficiently high above the horizon, 15 degrees minimum elevation is therefore normal. Make a visibility range plot of this satellite relative to Delft, in the visibility range plot you draw a polygon around your station and all groundtrack positions within this polygon indicate that the satellite is visible.
Question 3

Explain how 1) gravity models are developed from satellite tracking data, and 2) how satellite altimeter height profiles measured over the ocean can be used to complement 1). Why is altimetry complementary?
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